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QUESTION 1

What statement correctly describes the difference between a managed Layer 2 domain and an undamaged Layer 2
domain? 

A. A managed L2 domain has one or more zones and each zone can have multiple subnets, each with its own IP
address pool, while an unmanaged L2 domain does not have zones or subnets. 

B. Managed L2 domains can have overlapping IP address pools, while unmanaged L2 domains are not allowed to have
overlapping IP address pools. 

C. In a managed L2 domain, Nuage VCS manages security policies, while in an unmanaged domain, Nuage VCS
cannot manage the security policies. 

D. In a managed L2 domain, Nuage VCS performs DHCP and ARP proxy functions, while in an unmanaged domain
VCS has no visibility of IP addresses. 

Correct Answer: B 

 

QUESTION 2

When using a VXLAN gateway to connect VLAN-based equipment with VMs inside a VXLAN datacenter, what types of
vPorts can be used on the VSD GUI to connect those VLAN-based devices? 

A. VM vPort and host vPort. 

B. Host vPort and bridge vPort. 

C. Bridge vPort and gateway vPort. 

D. Gateway vPort and VM vPort. 

Correct Answer: C 

 

 

QUESTION 3

What is NOT a requirement for modern data center networks to facilitate cloud computing? 

A. Multi-tenancy 

B. Network automation 

C. Virtual machine live migration 

D. Network function virtualization 

Correct Answer: D 
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QUESTION 4

Which of the following is NOT an improvement provided by the backhaul VPLS? 

A. Reducing the number of EVPN on the HV. 

B. Reducing the number of VXLAN tunnels. 

C. Reducing the size of MAC address table. 

D. Reducing the consumption of bandwidth. 

Correct Answer: B 

 

QUESTION 5

What occurrence is NOT a problem facing a traditional data center network? 

A. High packet loss due to the use of the 3-tier hierarchy. 

B. Sub-optimal traffic flow. 

C. About half of the bandwidth is not used due to links being disabled by STP. 

D. High latency for some applications. 

Correct Answer: B 

Reference: https://nsl.cs.sfu.ca/teaching/13/880/surveyVirtualization.pdf 
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